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Movell's implementation of RIP updates routing tables after how many seconds?
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Which NetWare protocol provides link-state routing?
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Novell's implementation of RIP updates routing tables after how many seconds?
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(@ Question 2 @
Movell's implementation of RIP updates routing tables after how many seconds?
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Which routing protocel has a maximum network diameter (hop count) of 157

I0Q =" BB r O -



Safari File Edit View History Bookmarks Develop Window Help

eoe M - < L))

Q-

(“) Question 3

Which routing protocol has a maximum network diameter (hop count) of 157
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@ RIPv1
RIPv2

@ EIGRP

o Both RIPv1 and RIPv2

(“) Question 4

Which command displays RIP routing updates?
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@ Question 3

Which routing protocol has a maximum network diameter (hop count) of 157
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@ RIPv1
RIPv2

@ EIGRP

o Both RIPv1 and RIPv2

@ Question 4

Which command displays RIP routing updates?
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Default administrative distance of a static route is
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@ Question 1

Feedback for student resentations

In distance vector routing algorithm, the routing tables are updated
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o by exchanging information with the neighbours

automatically @

@ using the backup database

@ by the server @
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Feedback for student resentations

Distance vector routing algorithm is implemented in Internet as )
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Which of the following routing algorithm takes into account the current network load. i
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shortest path

@ flooding

o distance vector routing
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—

Hide answer choices ~ .
Feedback for student resentations

@ number of hops )
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o queue length
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Sending a packet to all destinations simultaneously is called
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